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Solving matrix equations with inverses

Jan Quang, Elleyne Kase If you have a coefficient tied to a variable on one side of the matrix equation, you can multiply by the inverse coefficient so that this coefficient goes away and leaves you with only a variable. For example, if 3x = 12, how would you solve the equation? You would split both sides by 3, which is the same as
multiplying by 1/3 to get x= 4. So it comes from the matrix. In variable form, the inverse function is written as f –1(x), where f –1 is the inverse function f. You name the reverse matrix similarly; inverse matrix A is A–1. If A, B and C are the matrix in the equation matrix AB = C and you want to solve for B, how do you do? Simply multiply by
inverse matrix A (if inverse exists), which you write as follows: A-1[AB] = A-1C Thus, simplified version B = A-1C. Now that you have simplified the baseline equation, you need to calculate the inverse matrix to calculate the answer to the problem. First, you should set that only square matrixes have inverse — in other words, the number of
rows should be equal to the number of columns. And even then, not every square matrix has inverse. If the matrix is not 0, the matrix has inverse. When the matrix has inverse, you have several ways to find it, depending on how big the matrix is. If the matrix is a 2-2 matrix, then you can use a simple formula to find the inverse. However,
for something larger than 2 x 2, you should use a graphics calculator or computer program (many websites can find matrix wraps for you'). If you're not using a graphics calculator, you can add an original, inverted matrix with an identity matrix and use elementary string operations to get the identity matrix where your original matrix once
was. These calculations leave the inverse matrix where you had the identity initially. This process, however, is more complicated. With all that said, here's how you'll find the inverse matrix 2-x-2: If Matrix A is a 2-x-2 matrix, it's inverse: Just follow this format with any 2-x-2 matrix you're asked to find. Armed with a system of equations and
knowledge of how to use inverse matrixes, you can follow a series of simple steps to come to the solution of the system, again using a reliable old matrix. For example, you can solve the system that follows the inverse matrixes: These steps show you the way: Write the system as the matrix formula. When you create as a matrix formula,
you get to create an inverse matrix of the coefficient from the equation matrix. You can use this inverse formula: in this case, a =4,b=3,c=-10, and d=-2. So, the ad is bc = 22. Consequently, the inverse matrix multiplies the inverse matrix of the coefficient in front on both sides of the equation. Now you have this equation: Cancel the matrix
on the left and matrix on the right. Inverse matrix once the matrix cancels. You are left with a scalar multiplier to solve the system. You're done with x and y values: Note that multiplying scalar scalar is usually easier after you multiply two matrixes. Nancy plans to invest $10,500 in two different bonds to spread out her risk. The first bond
has an annual return of 10% and the second bond has an annual return of 6%. In order to get an 8.5% return on two bonds, how much does Nancy have to invest in each bond? What is the best way to solve this problem? There are several ways we can solve this problem. As we have seen in previous sections, systems of equations and
medds are useful in solving real problems related to finances. After studying this section, we will find out the tools to solve the problem of communication with the help of the inverse matrix. Find the inverse matrix We know that the multiple inverse [latex]a[/latex] is [latex]{a}^-1}[/latex], and [latex]a{a}^-1}={a}^{-1}a=\left(\frac{1}
{a}\right)a=1[/latex]. For example, [latex]{2}^{-1}=\frac{1}{2}[/latex] and [latex]\left(\frac{1}{2}\right)2=1[/latex]. The inverse matrix multiplier is similar in concept, except that the product of the matrix [latex]A[/latex] and its inverse [latex]{A}^{-1}[/latex] is equal to the identity matrix. The identity matrix is a square matrix containing those
descending the main diagonal and zeros everywhere. We identify identity matrix by [latex]{I}_{n}[/latex], where [latex]n[/latex] represents the matrix size. The following formulas are the identity matrix for [latex]2\text{}\times \text{}2[/latex] and the [latex] matrix]3\text{}\times \text{}3[/latex] respectively. No, no, no, no, no,
{I}_{2}=\left[\begin{array}{rrr}\hfill 1&amp;\hfill &amp; \hfill 0\\\hfill 0&amp;\hfill &amp; \hf 1\end{array}\right][/latex] [latex]{I}_{3}=\left[\begin{array}{rrrrr}\hfill 1&amp;\hfill &amp; \h fill 0&amp;\hfill &amp;\hfill 0\\hfill 0&amp;\hfill &amp;\hfill 1&amp;\hfill &amp;\hfill 0\\hfill 0 &amp; \hfill &amp; \hfill 0&amp;\hfill &amp; \hfill 1\end{array}\right][/latex]
Identity Matrix acts as 1 in the algebra matrix. For example, [latex]AI=IA=A[/latex]. The matrix that has the multiplier inverse has the properties [latex]\begin{array}{l}A}^{-1}=I\\ {A}^{-1}A=I\end{array}[/latex] The multiple-inverse matrix is called an inverted matrix. Only a square matrix can have a multiplier inverse because the requirement
[latex]A{A}^{-1}={A}^{-1}A=I[/latex]. Not all square matrixes have inverse, but if [latex]A[/latex] is unaffordable, [latex]{A}^{-1}[/latex] is unique. We'll look at two ways to find the inverse matrix [latex]2\text{}\times \text{}2[/latex] and the third method that can be used for both the [latex] matrix [latex]2\text{}\times\text{}2[/latex] and
[latex]3\text{}\times \text{}3[/latex] matrices. Matrix [латекс] {I}_{n}[/latex], [латекс]{I}_{n}[/latex], квадратна матриця, що містить ті, що вниз по основній діагоналі і нулі скрізь. [латекс]\begin{array}{l}\hfill\begin{array}{l}\begin{array}{l}\hfill \\ {I}_{2}=\left[\begin{array}{rr}\hfill 1&amp; \hfill 0\\ \hfill 0&amp; \hfill 1\end{array}.
\right]\begin{array}{cccc}&amp; &amp;amp; \end{array}{I}_{3}=\left[\begin{array}{rrr}\hfill 1&amp; \hfill 0&amp; \hfill 0\\ \hfill 0&amp; \hfill 1&amp; \hfill 0\\ \hfill 0 &amp; \hfill 0&amp; \hfill 1\end{array}\right]\hfill \end{array}\hfill \\ \text{ }2\times 2\text{ 3}\times 3\hfill \end{array}\hfill \end{array}[/latex] Якщо [латекс]A[/latex] є матрицею
[latex]n\times n[/latex], а [latex]B[/latex] — це матриця [latex]n\times n[/latex] так, що [latex]AB=BA={I}_{n}[/latex], потім [latex]B={A}^{-1}[/latex], множник обернений матриці [латекс]A[/латекс]. Задана матриця A показує, що [латекс]AI=IA=A[/latex]. Ні, ні, ні, ні, ні, A=\left[\begin{array}{cc}3&amp; 4\\ -2&amp; 5\end{array}\right][/latex]
Як: З огляду на дві матриці, покажіть, що одна є множинною оберненою іншою. Дана матриця [латекс]A[/латекс] замовлення [латекс]n\times n[/latex] і матриця [латекс]B[/latex] замовлення [латекс]n\times n[/latex] розмножються [латекс]AB[/latex]. Якщо [латекс]AB=I[/latex], знайдіть продукт [латекс]BA[/latex]. Якщо
[латекс]BA=I[/latex], то [латекс]B={A}^{-1}[/латекс] і [латекс]A={B}^{-1}[/латекс]. Покажіть, що дані матриці є множинними оберненими один від одного. Ні, ні, ні, ні, ні, A=\left[\begin{array}{rrr}\hfill 1&amp; \hfill &amp; \hfill 5\\ \hfill -2&amp; \hfill &amp; \hfill -9\end{array}\right], B=\left[\begin{array}{rrr}\hfill -9&amp; \hfill &amp; \hfill -5\\
\hfill 2&amp; \hfill &amp; \hfill 1\end{array}\right][/latex] Покажіть, що наступні дві матриці є оберненими один з одним. Ні, ні, ні, ні, ні, A=\left[\begin{array}{rrr}\hfill 1&amp; \hfill &amp; \hfill 4\\ \hfill -1&amp; \hfill &amp; \hfill -3\end{array}\right], B=\left[\begin{array}{rrr}\hf -3&amp; \hfill &amp; \hfill -4\\ \hfill 1&amp; \hfill &amp; \hfill
1\end{array}\right][/latex] Тепер ми можемо визначити, чи є дві матриці оберненнями, але як би ми знайшли обернену дану матрицю? Оскільки ми знаємо, що продукт матриці та її обернена матриця ідентичності, ми можемо знайти обернену матрицю, встановивши рівняння за допомогою матричного множення.
Використовуйте матричне множення, щоб знайти обернену задану матрицю. Ні, ні, ні, ні, ні, A=\left[\begin{array}{rrr}\hfill 1&amp; \hfill &amp; \hfill -2\\ \hfill 2&amp; \hfill &amp; \hfill -3\end{array}\right][/latex] Пошук множинного оберненого шляхом збільшення ідентичності Ще один спосіб знайти множник обернений — це
збільшення ідентичності. Коли матриця [латекс]A[/latex] перетворюється на [латекс]I[/latex], розширена матриця [латекс]I[/latex] перетворюється на [латекс]{A}^{-1}[/latex]. Наприклад, дано [латекс]A=\left[\begin{array}{rrr}\hfill 2&amp; \hfill &amp; \hfill 1\\ \hfill 5&amp; \hfill &amp; \hfill збільшення [латекс]A[/латекс] з
посвідченням [латекс]\left[\begin{array}{rr}\hfill 2&amp; \hfill 1\\ \hfill 5&amp; \hfill 3\end{array}\text{ 3\end{array}\text{ }\begin{array}{rr}\hfill 1&amp; \hfill 0\\ \hfill 0&amp; \hfill 1\end{array}\right][/latex] Виконання операцій рядків із метою перетворення [латексу]A[/латексу] на посвідчення. Переключення рядка 1 і рядка 2.
[латекс]\left[\begin{array}{rr}\hfill 5&amp; \hfill 3\\ \hfill 2&amp; \hfill 1\end{array}\text{ }|\text{ }\begin{array}{rr}\hfill 0&amp; \hfill 1\\ \hfill 1&amp; \hfill 0\end{array}\right][/latex] Помножте рядок 2 на [латекс]-2[/латекс] і додайте до рядка 1. [латекс]\left[\begin{array}{rr}\hfill 1&amp; \hfill 1\\ \hfill 2&amp; \hfill 1\end{array}\text{ }|\text{
}\begin{array}{rr}\hfill -2&amp; \hfill 1\\ \hfill 1&amp; \hfill 0\end{array}\right][/latex] Помножте рядок 1 на [латекс]-2[/латекс] і додайте до рядка 2. [латекс]\left[\begin{array}{rr}\hfill 1&amp; \hfill 1\\ \hfill 0&amp; \hfill -1\end{array}\text{ }|\text{ }\begin {масив}{rr}\hfill -2&amp; \hfill 1\\ \hfill 5&amp; \hfill -2\end{array}\right][/latex] Додати рядок
2 до рядка 1. [латекс]\left[\begin{array}{rr}\hfill 1&amp; \hfill 0\\ \hfill 0&amp; \hfill -1\end{array}\text{ }|\text{ }\begin{array}{0rr}\hfill 3&amp; \hfill -1\\ \hfill 5&amp; \hfill -2\end{array}\right][/latex] Помножте рядок 2 на [латекс]-1[/латекс]. [латекс]\left[\begin{array}{rr}\hfill 1&amp; \hfill 0\\ \hfill 0&amp; \hfill 1\end{array}\text{ }|\text{
}\begin{array}{rr}\h заповнити 3&amp; \hfill -1\\ \hfill -5&amp; \hfill 2\end{array}\right][/latex] Знайдена вами матриця [ латекс]{A}^{-1}[/latex]. Ні, ні, ні, ні, ні, {A}^{-1}=\left[\begin{array}{rrr}\hfill 3&amp; \hfill &amp; \hfill -1\\ \hfill -5&amp; \hfill &amp; \hfill 2\end{array}\right][/latex] Пошук Множення Обернена матриці 2×2 Матриці За
допомогою формули Коли нам потрібно знайти множник обернений матриці [латекс]2\times 2[/latex], ми можемо використовувати спеціальну формулу замість використання матричного множення або збільшення з ідентичністю. Якщо [латекс]A[/latex] є матрицею [латекс]2\2[/latex], такі як [латекс]A=\left[\begin{array}
{rrr}\hfill a&amp; \hfill &amp; \hfill b\\ \hfill c&amp; \hfill &amp; \hfill d\end{array}\right][/latex] множення обернене [латекс]A[/late за формулою [латекс]{A}^{-1}=\frac{1}{ad-bc}\left[\begin{array}{rrr}\hfill d&amp;amp;\hfill &amp; \hfill -b\\ \hfill -c&amp; \hfill &amp; \hfill a\end{array}\right][/latex], де [латекс]ad-bce 0[/latex]. Якщо [латекс]ad-
bc=0[/latex], то [латекс]A[/latex] не має зворотного. Скористайтеся формулою, щоб знайти множення обернене значення [латекс]A=\left[\begin{array}{cc}1 &amp; -2\\ 2 &amp; -3\end{array}\right][/latex] Використовуйте формулу, щоб знайти обернену матрицю [латекс]A[/latex]. Підтвердьте свою відповідь за допомогою
матриці ідентифікації. Ні , ні, ні, ні, ні, A=\left[\begin{array}{cc}1 &amp; -1\\ 2&amp; 3\end{array}\right][/latex] Знайдіть обернену, якщо вона існує, даної матриці. Ні, ні, ні, ні, ні, A=\left[\begin{array}{cc}3&amp; 6\\ 1&amp;amp;2\end{array}\right][/latex] Пошук Inverse 3×3 Matrix Unfortunately, we do not have a formula similar to the
formula for the matrix [latex]2\text{}\times \text{}2[/latex] to find the inverse matrix [latex]3\text{}\times \text{}3[/latex]. Instead, we will matrix with identity matrix and use string operations to get inverse. Courtesy of Matrix [Latex]3\text{}\times \text{}3[/latex] [latex]A=\left[\begin{array}{ccc}2&amp;3&amp;1\\ 3&amp;amp;3&amp;1\\
2&amp;4&amp;1\end{array}\right][/latex] increase [latex]A[/latex] with identity matrix [latex]A| I=\left[\begin{array}{ccc}2&amp; 3&amp;amp;1\\ 3&amp; 3&amp;amp;1\\ 2&amp; 4&amp;amp;1\end{array}\text{ }|\text{ }\begin{array}{ccc}1&amp;amp;0 &amp;amp; 0\\0&amp;1 and 0\\0&amp;0&amp;1\end{array}\right][/latex] To begin with, we
write an augmented matrix with id on the right and [latex]A[/latex] on the left. By performing elementary line operations so that the identity matrix appears on the left, we get the reverse matrix on the right. We will find this matrix inverse in the following example. How to: Given the matrix [latex]3\times 3[/latex], find the inverse to write the
original matrix, complemented by the identity matrix on the right. Use elementary row operations to make your profile appear on the left. What comes out on the right is the inverse of the original matrix. Use matrix multiplication to show that [latex]A{A}^{-1}=I[/latex] and [latex]{A}^{-1}A=I[/latex]. Considering the matrix [latex]3\times 3[/latex]
[latex]A[/latex], find the inverse. No, no, no, no, no, A=\left[\begin{array}{ccc}2&amp;3&amp;3&amp;1\\ 3&amp;3&amp;1\\2&amp;4&amp;1\end{array}\right][/latex] Find the inverse matrix [latex]3\times 3[/latex]. No, no, no, no, no, A=\left[\begin{array}{ccc}2&amp;-17&amp;11\\ -1&amp;11&amp;11&amp;-7\\0&amp;3&amp;2\end{array}\right]
[/latex] System solution Linear equations using the inverse matrix require two new mants to be detected: [latex]X[/latex] is a matrix representing variable systems, and [latex]B[/latex] is a matrix representing constants. Using matrix multiplication, we can define a system of equations with the same number of equations as variables as
[latex]AX=B[/latex] To solve the system of linear equations using the inverse matrix, let [latex]A[/latex] be the matrix coefficient, let [latex]X[/latex] be a variable matrix, and let [latex]B[/latex] be a permanent matrix. So we want to solve the system [latex]AX=B[/latex]. For example, look at the next system of equations. [latex]\begin{array}{c}
{a}_{1}x+{b}_{1}y={c}_{1}\\ {a}_{2}x+{b}_{2}y={c}_{2}\end{array}[/latex] matrix coefficient [latex]A=\left[\begin{array}{cc}{a}_{1}&amp; {b}_{1}\\ {a}_{2}&amp; {b}_{2}\end{array}\right][/latex] Variable Matrix [latex]. X=\left[\begin{array}{c}x\\ y\end{array}\right][/latex] And constant matrix [latex]B=\left[\begin\array}{c}{c}_{1}\\{c}_{2}\end
{array}\right][/late later [latex]AX=B[/latex] looks like [latex]\left[\begin{array}{cc}{a}_{1}&amp;{b}_{1}\\ {a}_{2}&amp; {b}_{2}\end{array}\right]\text{ }\left[\begin{} y\end{array}\right]=\left[\begin{array}{c}_{1}\\{c}_{2}\end{array}\right][/latex] Recall a discussion earlier in this section about multiplying a real number by its inverse , , Щоб вирішити
одну лінійну формулу [латекс]ax=b[/latex] для [latex]x[/latex], ми просто помножимо обидві сторони рівняння на множник зворотний (взаємний) [латекс]a[/latex]. Thus, [latex]\begin{array}{c}\text{ }ax=b\\ \text{ }\left(\frac{1}{a}\right)ax=\left(\frac{1}{a}\right)b\\ \left({a}^{-1}\text{ }\right)ax=\left({a}^{-1}\right)b\\ \left[\left({a}^{-
1}\right)a\right]x=\left({a}^{-1}\right)b\\ \text{ }1x=\left({a}^{-1}\right)b\\ \text{ }x=\left({a}^{-1}\right)b\end{array}[/latex] The only difference between a solving a linear equation and a system of equations written in matrix form is that finding the inverse of a matrix is more complicated, and matrix multiplication is a longer process. Однак мета
однакова - ізолювати змінну. Ми детально дослідимо цю ідею, але корисно почати з системи [latex]2\times 2[/latex], а потім перейти до системи [latex]3\times 3[/latex]. Враховуючи систему рівнянь, напишіть матрицю коефіцієнта [латекс]A[/latex], змінну матрицю [латекс]X[/latex], а також постійну матрицю [латекс]B[/latex].
Потім [латекс]AX=B[/латекс]. Помножте обидві сторони на обернену [латекс]A[/latex], щоб отримати рішення. [латекс]\begin{array}{r}\hfill \left({A}^{-1}\right)AX=\left({A}^{-1}\right)B\\ \hfill \left[\left({A}^{-1}\right)A\right]X=\left({A}^{-1}\праворуч)B\\ \hfill IX=\left({A}^{-1}\right)B\\ \hfill X=\left({A}^-1}\right)B\end{array}[/latex] Ні, якщо
матриця коефіцієнта не є перевернутою, система може бути непослідовною і не мати рішення, або бути залежними і мати нескінченно багато рішень. Вирішіть задану систему рівнянь за допомогою оберненої матриці. [latex]\begin{array}{r}\hfill 3x+8y=5\\ \hfill 4x+11y=7\end{array}[/latex] Ні, нагадаємо, що множення
матриці не є комутативним, тому [латекс]{A}^{-1}Be B{A}^-1}[/latex]. Розглянемо наші кроки для вирішення матриці рівняння. [латекс]\begin{array}{r}\hfill \left({A}^{-1}\right)AX=\left({A}^{-1}\right)B\\ \hfill \left[\left({A }^{-1}\праворуч)A\вправо]X=\left({A}^{-1}\праворуч)B\\ \hfill IX=\left({A}^{-1}\right)B\\ \hfill X=\left({A}^{-
1}\right)B\end{array}[/latex] Повідомлення на першому кроці ми помножити обидві сторони рівняння на [латекс]{A}^{-1}[/latex ], але [латекс]{A}^{-1}[/latex] був ліворуч від [latex]A[/latex] ліворуч і ліворуч від [latex]B[/latex] з правого боку. Оскільки множення матриці не є комутативним, порядок має значення. Вирішіть наступну
систему за допомогою оберненої матриці. [latex]\begin{array}{r}\hfill 5x+15y+56z=35\\ \hfill -4x - 11y - 41z=-26\\ \hfill -x - 3y - 11z=-7\end{array}[/latex] Вирішити систему за допомогою оберненої матриці коефіцієнта. [латекс]\begin{array}{l}\text{ }2x - 17y+11z=0\hfill \\ \\ \text{ }-x+11y - 7z=8\hfill \\ \text{ }3y - 2z=-2\hfill \end{array}
[/latex] Як: Надано систему рівнянь, розв' язуй за допомогою матричних обернень за допомогою калькулятора. Збережіть матрицю коефіцієнта та constant matrix as matrix variables [latex]\left[A\right][/latex] and [latex]\left[B\right][/latex]. Enter multiplication into the calculator by calling each variable matrix as needed. If the
coefficient matrix is inverted, the calculator will present the solution matrix; if the coefficient matrix is not inverted, the calculator will present an error message. Solve equation system from matrix inverse using calculator [latex]\begin{array}{l}2x+3y+z=32\hfill \\ 3x+3y+z=-27\hfill \\ 2x+4y+z=-2\hfill \end{array}[/latex] Matrix certifies
[latex]2\text{}\times \text{}2[/latex] matrix [latex]{I}_{2}=\left[\begin{}array{cc}1&amp;0\\ 0&amp; 1\end{array}\right][/latex] The matrix certifies [latex]. \text{3}\text{}\times \text{}3[/latex] matrix [latex]{I}_{3}=\left[\begin{array}{ccc}1&amp;0&amp;0\\ 0&amp;1&amp;0\\0&amp;0&amp;0&amp;0 0&amp;1\end{array}\right][/latex] Multi Electronic
Inverse Matrix [Latex]{A}^-1}=\frac{1}{ad-bc}\left[\begin{array}{cc}d &amp; b\\ -c&amp;a\end{array}\right] ,\text{ where }ad-bce 0[/latex] The Certification Matrix has the [latex] property [latex]AI=IA=A[/latex]. The inverted matrix has the [latex] property A{A}^{-1}={A}^{-1}A=I[/latex]. Use matrix multiplication and identities to find the inverse
matrix [latex]2\2[/latex]. The inverse multiplier can be found with a formula. Another method of finding the inverse is to zoom in with identity. We can add a matrix [latex]3\times 3[/latex] with id on the right and use string operations to convert the original matrix to identity, and the matrix on the right becomes inverse. Write the formula
system as [latex]AX=B[/latex] and multiply both sides by inverse [latex]A:{A}^{-1}AX={A}^{-1}B[/latex]. We can also use the calculator to solve the system of equations from matrix inverse. a matrix of the identity of a square matrix containing those that descended on the main diagonal and zeros everywhere; it acts as 1 in the algebra matrix
multiplication of the inverse matrix matrix, which when multiplied by the original equals the matrix of the matrix of the identity
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